8) a—-s2=x
iy Fr )

£ & g 50 58 59 60 61 62
iR (EF | Mkt | (RETIR | MREE | GERTIR | MARH | GERER [ MARLE [ (R | ML | BRI | MR
KB W R 666 | 20.2%| 1,044 | 85.6%| 1,131 | 85.8%| 1,116| 86.7%| 1,085 94.5%| 1,032 87.0%
xR # R 0| 00 1 01 1 ot 1 o1 1| o1 2| 0.2
B oA K MR 21| 0.9 “ L1 “| L1 4| L1 “| L3 4| L2

RILHX | 1,565| 68.7 144 | 1.8 155 1.8 139 | 10.8 4| 30 125| 10.5

]
K| REMK 9] 0.4 8| 0.7 7| 0.5 7| 0.5 7| 0.6 71 0.6
B
i | AR 19] 0.8 9l 07 10| 0.7 10| 0.8 6| 0.5 6| 0.5
=

H 1,503 69.9 161 13,2 1721 13,0 156 | 12.1 6| 41 138 | 116

& 18 2,280 [100.0 | 1.220{100.0 | 1318|1000 | 1287{100,0 | 1,1271100.0 | 1.186 | 100,0

*2-30  Eo8E - REERARRORE (BM6 2 4H)
L BUEERES - 8w 77| LPG TNG ®TH X
(t) ARG Bt&mﬂ@ D ;TN ND)] (+) | Q0°NaD) | (10°Nm)
KB oM R | 1,082,295 153, 497 12, 130 403, 025 [ 568, 652 151, 542 9,008 0 304, 389
it K K it % 1,798 86, 181 4,952 56,523 [ 147, 656 61,138 23.103 0 97,049
WK R R 14, 413 105, 469 11,898 36,863 0 154, 230 83, 356 21,013 92 73,686
& R K 125, 148 59, 577 10, 984 499,131 88, 851 658, 543 48,141 86,134 | 1,628, 758 261,825
é REMEK 8,790 61,729 4,526 141,425 873,465 | 1,081, 145 27,856 4,237 0 30, 699
’& MR 5,920 18, 886 1,438 10, 633 0 30 955 13,094 2,857 1] 7.209
H 137, 858 140, 192 16, 946 651, 189 962,316 | 1,770,643 89, 091 93,228 | 1,628,759 299, 733
& H 1,186,384 485, 338 45,926 | 1, 147,600 962,316 | 2,641,181 385,127 146,350 | 1,628, 851 774, 857
#£2-31 ER_E(REHLROES
B F )
F K| W50 58 50 60 61 62
etk | R | SRR | ML | SRR | MSRIL | HEHHIR | MIARH | SRR | MOREE | SRR | MR
K IR R 16{ 30.8% 2.9| 2208 25| 19.4 1.9 16.9% L8| 17.1% 19| 21.8%
PN 8% 3| 58 L4| 106 1.5| 1.6 14| 125 L4 133 1.0} 114
LN 8 E 5| 9.8 18] 121 1.8 14.0 16| 14.3 L7} 182 12| 138
Rt 23| M2 3.3| 25.0 3.2| 24.8 3.1 217 2.4| 229 2.2 25.0
]
x| A 4 77 3.5| 2.5 3.4| 2.3 2.7} 2.1 2.6 24.8 2.2| 25.0
3
| FRFEIAHEX 1 Le 0.5| 3.8 0.5 39 0.5 45 0.8 57 0.3 3.4
3
M 281 53.8 7.3} 55.3 7.1} 55.0 6.3] 56.3 56| 53.4 47| 53.4
& Lis 52|100.0 | 13.2/100.0 | 12.9]100.0 | 11.2{100.0 | 10.5|100.0 8.8 100.0
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